Calculus – Trig/Log/Exponentials – DF1
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3. Differentiate: 
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9. If 
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(a) 1
 

(b) 6(cos2x + sin2x)5 
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(b) 0
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(d) -5sin(5x)
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11. Which of the following is equal to 
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12. Which of the following functions could have the graph sketched here?
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2. Assume f is differentiable on the open interval, � EMBED Equation.DSMT4  ���, and


	I. � EMBED Equation.DSMT4  ���


	II. � EMBED Equation.DSMT4  ���


	III. � EMBED Equation.DSMT4  ���


	IV. � EMBED Equation.DSMT4  ���


Find f(x)


  (a) 3sin x + 3x    (b) 3sin 2x + 3x


3sin 2x – 3     (d) 3sin 2x – 3x


  (e) 3sin 4x + 3x





4. If � EMBED Equation.DSMT4  ���


     (a) � EMBED Equation.DSMT4  ���        (b) � EMBED Equation.DSMT4  ���


     (c) � EMBED Equation.DSMT4  ���    (d) � EMBED Equation.DSMT4  ���


     (e) � EMBED Equation.DSMT4  ���





6. If � EMBED Equation.DSMT4  ���


     	(a) � EMBED Equation.DSMT4  ���         


(b) � EMBED Equation.DSMT4  ���


    	(c) � EMBED Equation.DSMT4  ���        


(d) � EMBED Equation.DSMT4  ���


     	(e) � EMBED Equation.DSMT4  ��� 





8. If � EMBED Equation.DSMT4  ���


	(a) � EMBED Equation.DSMT4  ���


	(b) � EMBED Equation.DSMT4  ���


	(c) � EMBED Equation.DSMT4  ���


	(d) � EMBED Equation.DSMT4  ���


	(e) � EMBED Equation.DSMT4  ���
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